



ZZLILE AVILES ENGINEERING CORPORATION

5790 Windfern Road, Houston, Texas 77041 - 713-895-7645 - Fax 713-895-7943



Invoice

Invoice Date:	11/30/16	AEC Invoice No.:	111621C
AEC Project No.:	C121-16	Customer ID:	FTBCENG

Client: Fort Bend County

Fort Bend County Engineering Department

Project: FM 1093/Westpark Tollway Expansion Project, Phase 1

P. O. No.:

137085

Bill to:

email to:

Fort Bend County Engineering Department

Attn: County Engineer

301 Jackson Street

Richmond, Texas 77469

Vanessa Wallace vwallace@pascorp.net

	Services Provided:	Net Amount Due	
on the	erials Testing and Inspection Services above Referenced Project ached Page/s for Invoice Backup)	\$7,606.95	
	Subtotal	\$7,606.95	
Terms: Net 30	Total Due this Invoice:	\$7,606.95	
	Contract Amount:	\$300,000.00	
	Amount of this Invoice:	\$7,606.95	
	Amount of Previous Invoices:	\$101,191.83	
	Amount Invoiced including this Invoice:	\$108,798.78	
	Amount Remaining including this Invoice:	\$191,201.22	
	Percent of Contract Complete:	36.3%	

EOK to Pay 3 { 12/15/2016 }

Please Remit to:
Aviles Engineering Corporation
5790 Windfern Road
Houston, Texas 77041

12/14/16

Please Include Invoice Number on all Remittance. Thank You and We Appreciate Your Business.

Project: FM 1093/Westpark Tollway Expansion Project, Phase 1

AEC Project No.:

C121-16

Client: Fort Bend County

Fort Bend County Engineering Department

Invoice Date: 11/30/16

Invoice No.:

111621C

71110	,	11/30/10		Invoice No.:	11	1621C
	Report				Unit	
Date	No.	Description	Quantity	Unit	Rate	Amount
11/1	309	Senior Engineering Technician - Min. Chg.	2	Hour	\$ 65.00	\$ 130.00
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$ 125.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
11/2	310	NICET III Technician	2.5	Hour	\$ 75.00	\$ 187.50
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$ 125.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
11/2	311	Concrete Compression Test	10	Each	\$ 17.00	\$ 170.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
11/3	312	NICET III Technician	2.25	Hour	\$ 75.00	\$ 168.75
		Trip Charge - Vehicle and Time	i	Trip	\$125.00	\$ 125.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
11/3	313	Concrete Compression Test	10	Each	\$ 17.00	\$ 170.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
11/3	314	Senior Engineering Technician - Min. Chg.	2	Hour	\$ 65.00	\$ 130,00
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$ 125.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
11/3		Concrete Compression Test	6	Each	\$ 17.00	\$ 102.00
	- Transit A	Project Engineer	0.25	Hour	\$149.00	\$ 37.25
11/4	315	Senior Engineering Technician - Min. Chg.	2	Hour	\$ 65.00	\$ 130.00
		Vehicle - Minimum Charge	2	Hour	\$ 10.00	\$ 20.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
11/7	316	Senior Engineering Technician - Min. Chg.	2	Hour	\$ 65.00	\$ 130.00
		Vehicle - Minimum Charge	2	Hour	\$ 10.00	\$ 20.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
11/11		Senior Engineering Technician	5.25	Hour	\$ 65.00	\$ 341.25
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$ 125.00
<u>. </u>		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
11/11	318	Concrete Compression Test	8	Each	\$ 17.00	\$ 136.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
11/12		Engineering Technician - OT Min. Chg.	2	Hour	\$ 76.00	\$ 152.00
		Vehicle - Minimum Charge	2	Hour	\$ 10.00	\$ 20.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
1/14	320	Senior Engineering Technician	3.25	Hour	\$ 65.00	\$ 211.25
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$ 125.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
1/14		Concrete Compression Test	8	Each	\$ 17.00	\$ 136.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25

Project: FM 1093/Westpark Tollway Expansion Project, Phase 1

AEC Project No.:

C121-16

Client: Fort Bend County

Fort Bend County Engineering Department

Invoice Date: 11/30/16

Invoice No.:

111621C

11170		6 A1/3U/10		Invoice No.:	11	1621C
	Repor	t	•		Unit	
Date		Description	Quantity	Unit	Rate	Amount
11/17	322	Engineering Technician - OT Min. Chg.	2	Hour	\$ 76.00	\$ 152.00
	<u> </u>	Vehicle - Minimum Charge	2	Hour	\$ 10.00	\$ 20.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
11/17	323	Senior Engineering Technician	5	Hour	\$ 65.00	\$ 325.00
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$ 125.00
	<u> </u>	Project Engineer	0.25	Hour	\$149.00	\$ 37.25
11/17	323A	Concrete Compression Test	6	Each	\$ 17.00	\$ 102.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
11/17	324	Dry Sieve Analysis of Aggregates	1	Each	\$ 54.00	\$ 54.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
11/17	325	Material Finer than a #200 Sieve	1	Each	\$ 48.00	\$ 48.00
<u> </u>		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
11/17	326	Sieve Analysis on Washed #200 Material	1	Each	\$ 57.00	\$ 57.00
		Material Finer than a #200 Sieve	1	Each	\$ 48.00	\$ 48.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
11/17	327	Sand Equivalent of Fine Aggregate	1	Each	\$ 65.00	\$ 65.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
11/18	328	Senior Engineering Technician	2	Hour	\$ 65.00	\$ 130.00
		Vehicle - Minimum Charge	2	Hour	\$ 10.00	\$ 20.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
11/21	329	Senior Engineer	1	Hour	\$183.00	\$ 183.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
11/21	330	Senior Engineering Technician	4	Hour	\$ 65.00	\$ 260.00
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$ 125.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
11/21	330A	Concrete Compression Test	6	Each	\$ 17.00	\$ 102.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
11/21	331	Senior Engineering Technician	5	Hour	\$ 65.00	\$ 325.00
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$ 125.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
11/21		Concrete Compression Test	8	Each	\$ 17.00	\$ 136.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
11/22		Dry Sieve Analysis of Aggregates	1	Each	\$ 54.00	\$ 54.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
11/22	332A	Mat'l Finer than #200 Sieve (Decant)	1	Each	\$ 48.00	\$ 48.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
			, ,, ,, ,,, , ,,,,,,,,,,,,,,,,,,,,,,,			

Project: FM 1093/Westpark Tollway Expansion Project, Phase 1

AEC Project No.:

C121-16

Client: Fort Bend County

Fort Bend County Engineering Department

Invoice Date: 11/30/16

Invoice No.:

111621C

						10210
ļ	Report				Unit	
Date	No.	Description	Quantity	Unit	Rate	Amount
11/22	333	Dry Sieve Analysis of Aggregates	1	Each	\$ 54.00	\$ 54.00
		Mat'l Finer than #200 Sieve (Decant)	1	Each	\$ 48.00	\$ 48.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
11/22	334	Report Number Not In Use	1	Each	\$ -	\$ -
11/22	335	Sand Equivalent of Fine Aggregate	1	Each	\$ 65.00	\$ 65.00
		Project Engineer	0.3	Hour	\$149.00	\$ 44.70
11/23	336	Senior Engineering Technician - Min. Chg.	2	Hour	\$ 65.00	\$ 130.00
		Vehicle - Minimum Charge	2	Hour	\$ 10.00	\$ 20.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
11/30	337	Senior Engineering Technician	2.25	Hour	\$ 65.00	\$ 146.25
		Trip Charge - Vehicle and Time	1	Trip	\$125.00	\$ 125.00
		Project Engineer	0.25	Hour	\$149.00	\$ 37.25
11/30		Concrete Compression Test	8	Each	\$ 17.00	\$ 136.00
	-	Project Engineer	0.25	Hour	\$149.00	\$ 37.25
					Total =	\$7,606.95

Peterson, Jillian

From:

Vanessa Wallace <vwallace@pascorp.net>

Sent:

Thursday, December 15, 2016 9:58 AM

To:

Peterson, Jillian

Cc:

Robert Dick; Mike Stone (MikeStone@MikeStoneAssociates.com)

Subject:

FM 1093 - Aviles Engineering Corp Approved Invoice

Attachments:

20161211 RCVD Aviles Eng Corp Invoice 111621C - Approved.pdf

Good Morning Jillian,

Attached is the approved Aviles Eng. Corp. invoice for further processing and payment.

Please let me know if you have any questions.

Thanks, Vanessa Wallace Contract Administrator C: 832-286-7984